o UFe A5 Aol Lhet
S LR RS

e
=
o
o
I

1]%9]2—__]0](@11) —?ﬂ—;,‘—(cm) (%__]_7,‘_)_(7\]%)
15 47.1
28 87.92

|IE'-

it

3.14

3.14

v V. v Vv
0
L

0
I

rlo
i

nE o] Ede= AEL] 4ol9] 3,14 dY




<l

@

0|
RS
)
—
o
Ul
ol
o
‘m .
o o)
NF ay
o o8
B
T
—_ ©
=
5 o
N T
o W
X
X5
T K0
o__._ I o0
o =
N o> Xk

445 958 AYVL.

71

® 5o

m

9|

S

Al
o To

an
=y ul
w9
RO ot I
X0 ol of
wo & K
5 o~ &
% ) T
T T B
™o T
T 0 o
~ N
M or or
o np e
TR N
ol 7y o
o mjp o
NF < N
Tl o
©0 O

o

sl

el

3

=

} o

<0
o)

o] Zolo} A gLo]

i

3 o)
o1 ol
= N

o5 o

of ©




252 dol9] of 3.14 HiJU Tt

=z
T

2

o] 710]9] of 3.14 L},

@ PF&23.14 YTk

SORUEDIR!

2

s

A 52l dofof o

9] oF 3.14 v J ot

A5

)
B:
o




AlQ.

[ Ix2x314

= Jx3.14

=
e

i

&

-

nn

il
KO

A




[> HEFD 43.96cm
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